
General Limit Notes 
 

Con%nuous Func%ons 
 

 
 
 

𝐥𝐢𝐦
𝒙→𝒂

𝒇(𝒙) = 𝒇(𝒂) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝒙𝟐 + 𝟏 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝟐𝒙 + 𝟑 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝟐𝒙𝟑 − 𝟒 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = √𝒙 − 𝟑 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝒔𝒊𝒏(𝒙) 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝒄𝒐𝒔(𝒙) 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
𝒇(𝒙) = 𝒔𝒊𝒏(𝝅𝒙) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
𝒇(𝒙) = 𝒄𝒐𝒔(𝟐𝝅𝒙) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
𝒇(𝒙) = 𝟐𝒙𝟒 + 𝒙𝟑 − 𝟒𝒙𝟐 − 𝟐𝒙 + 𝟕 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
Func%ons with Ver%cal Asymptotes 

 
 

 
 
 

 
𝐥𝐢𝐦
𝒙→𝟑

𝒇(𝒙) = ∞ and 𝒇(𝟑) = 𝒖𝒏𝒅𝒆𝒇𝒊𝒏𝒆𝒅 
 



 
 
 

𝐥𝐢𝐦
𝒙→'𝟑

𝒇(𝒙) = −∞ and 𝒇(−𝟑) = 𝒖𝒏𝒅𝒆𝒇𝒊𝒏𝒆𝒅 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

 
 
 
 
 
 



 
 

 
 
 

𝐥𝐢𝐦
𝒙→𝟑

𝒇(𝒙) = 𝑫𝑵𝑬 and 𝒇(𝟑) = 𝒖𝒏𝒅𝒆𝒇𝒊𝒏𝒆𝒅 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 

 
 
 

𝐥𝐢𝐦
𝒙→'𝟑

𝒇(𝒙) = 𝑫𝑵𝑬 and 𝒇(−𝟑) = 𝒖𝒏𝒅𝒆𝒇𝒊𝒏𝒆𝒅 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 

𝒇(𝒙) =
𝟏
𝒙 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 

𝒇(𝒙) =
𝟏

𝒙 − 𝟑 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 

𝒇(𝒙) = −
𝟏

𝒙 + 𝟐 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 

𝒇(𝒙) =
𝟏
𝒙𝟐 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 

𝒇(𝒙) = −
𝟏

(𝒙 − 𝟒)𝟐 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

𝒇(𝒙) = −
𝟐
𝒙𝟑 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



  

𝒇(𝒙) =
𝟒

(𝒙 + 𝟐)𝟐 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = −
𝟓
𝒙𝟒 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝐬𝐞𝐜	(𝒙) 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = 𝐭𝐚𝐧(𝒙) 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
𝟏

𝒙(𝒙 − 𝟑) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
𝟏

𝒙𝟐(𝒙 + 𝟓) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
𝟑𝒙 + 𝟏
𝟐𝒙 + 𝟓 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 



Piecewise Func%ons 
 

 
 
 

𝐥𝐢𝐦
𝒙→𝟒

𝒇(𝒙) = 𝑫𝑵𝑬 and 𝒇(𝟒) = 𝟕 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

𝒇(𝒙) = G 𝒙𝟐 𝒇𝒐𝒓	𝒙 < 𝟏
𝒙 − 𝟒 𝒇𝒐𝒓	𝒙 ≥ 𝟏 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = G 𝒙𝟐 𝒇𝒐𝒓	𝒙 ≤ 𝟏
𝟐 − 𝒙 𝒇𝒐𝒓	𝒙 > 𝟏 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = G𝟑𝒙 𝒇𝒐𝒓	𝒙 < −𝟐
𝝅 𝒇𝒐𝒓	𝒙 ≥ −𝟐 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = |𝒙| 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = N
𝒙𝟐 + 𝟏 𝒙 < −𝟒
𝟖 −𝟒 ≤ 𝒙 < 𝟐
𝒙𝟑 𝒙 ≥ 𝟐

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = N
𝟏
𝒙 𝒇𝒐𝒓	𝒙 ≠ 𝟎

𝟒 𝒇𝒐𝒓	𝒙 = 𝟎
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = N
𝟏
𝒙𝟐 𝒇𝒐𝒓	𝒙 ≠ 𝟎

−𝟐 𝒇𝒐𝒓	𝒙 = 𝟎
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Func(ons with Removable Discon(nui(es 
 

 
 
 

𝐥𝐢𝐦
𝒙→𝟒

𝒇(𝒙) = 𝟑 and 𝒇(𝟒) = 𝒖𝒏𝒅𝒆𝒇𝒊𝒏𝒆𝒅 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 

𝒇(𝒙) =
𝒙𝟐 − 𝟗
𝒙 − 𝟑  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



𝒇(𝒙) =
𝒙𝟐 − 𝟒
𝒙 + 𝟐  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
𝒙𝟐 − 𝟏
𝒙 − 𝟏  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) =
𝒙𝟑 + 𝟖
𝒙 + 𝟐  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

𝐥𝐢𝐦
𝒙→𝟒

𝒇(𝒙) = 𝟑 and 𝒇(𝟒) = −𝟑 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = N
𝒙𝟐 − 𝟒
𝒙 − 𝟐 𝒇𝒐𝒓	𝒙 ≠ 𝟐
𝟏 𝒙 = 𝟐

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



𝒇(𝒙) = N
𝒙𝟐 − 𝟏
𝒙 + 𝟏

𝒇𝒐𝒓	𝒙 ≠ −𝟏

𝟐 𝒙 = −𝟏
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



𝒇(𝒙) = N
𝒙 + 𝟐
𝒙𝟑 + 𝟖

𝒇𝒐𝒓	𝒙 ≠ −𝟐

𝟏 𝒙 = −𝟐
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 


